People as Resource

Assertion & Reason Type Questions

Directions : In the following questions given below, there are two statements
marked as Assertion (A) and Reason (R). Read the statements and choose the correct
option:

a. Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

b. Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

c. Assertion (A) is true, but Reason (R) is false.
d. Assertion (A) is false, but Reason (R) is true.
Q1. Assertion (A): Literacy rate is high among the males of India.

Reason (R): The opportunity to get education is more among males as compared to
females due to male-dominating society in India.

Answer : (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

Q2. Assertion (A): Women, who are engaged in economic activities, generally take
up teaching and medicine.

Reason (R): Women are paid more wages as compared to men.
Answer : (c) Assertion (A) is true, but Reason (R) is false.

Q3. Assertion (A): The 11th plan endeavoured to raise the country's Gross
Enrolment Ratio in higher education in the age-group of 18 to 23 years.

Reason (R): The plan also focuses on distant education, convergence of formal, non-
formal, distance, and IT education institutions.

Answer : (b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

Q4. Assertion (A): Women are less educated than men.

Reason (R): This is due to gender inequality and some social foundations in India.
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Answer : (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

Q5. Assertion (A): Educated unemployment is posing a great threat to our country.

Reason (R): In educated unemployment, people appear to be employed but their
productivity is zero.

Answer : (c) Assertion (A) is true, but Reason (R) is false.

Q6. Assertion (A): Activities which contribute to the national income are called
economic activities.

Reason (R): Economic activities are not paid for and the factors are not remunerated.
Answer : (c) Assertion (A) is true, but Reason (R) is false.

Q7. Assertion (A): The level of unemployment varies with economic conditions and
other circumstances.

Reason (R): Unemployment can be expressed as a percentage of the total available
workforce.

Answer : (b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

Q8. Assertion (A): The quality of population depends upon the literacy rate, health of
a person, life expectancy and skill formation acquired by the people of the country.

Reason (R): The quality of the population decides the growth rate of the country
leading to the growth of society.

Answer : (b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).
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